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. () 12x+15 (i)
a. (i) 16a° —24ab (i)
. (D) 24;’ ~-26x7y (i)
&, (i) O 3 _Gx? +12x (11)

5, (1) 14x® +21x° Y- -28x%y°
&, (i) x{x+3)+5x +3)
7. Gala ~-2b)+ fbla —2b) Z.

10. (x+5)° —4{x+5) .
13, 16(2p - 3g)° - a2p-8q) 4
16, (x+yl2x+8)- {x1 ) +3) 1%
1@, ab® -bc? —ab+c? 20.

2%, {x-2y} +dx - 8Y
2. ab® +le-1b-1
52, x* —x(a+2b) +2ab

_4mn +4n’
Wigat, Given exp.

G, m’
1g, ((+m)® - 4lm

Faotarise:
1. x2+Bx+6
2, p*+6p+8
2, x*+18x +40
20 x> -10x +24%

23,
28.

Fac TORI8AT 1 ION
L = |

14m-21

15ab? -20a’b
10x3 —16x>

Bx? - 72y +12%
_5-10t +20t"

Bx(x —4)—Tix - 4}
*2a-b)+x*20-b
3(a - 2b)* —5la —2b)
xla-23)+y8-a)
ar+br +at -+ bt
—xz+ XYy ~Yz

y? —xyl-x)-x°
¥ -8xt4x-3

Faetiorisss
1, x*-36 2, 4a*-9 3. 81 -49x®
4. 4x*-8y® 5. 16a? —225b" 8. 9a’b® -25
2, 16¢% ~144 a. 63a?-112b" g, 20a’ - 45b*
1Q, 12x2-27 11, x° —-64x 12, 16x° ~144x°
19, 3x° -48%° 14, 16p° -4p 16. 63a%b* -7
w8, 1-(m-c)? 17, (2a +3b)* -16c g8, (1+m)? —(l-m)”
8. (Zx+5y) -1 ag. 36¢% - (Ba +b) a1, (3x - 4y)? -252°
gn, x-y*-2y-1 ag, 25-a’-b*-2ab 24, 25a? —4b® +28bC - 49¢c*
35, 9’ -b*+4b-4 25. 100-(x ~5)*
%7, E\raluate{(éoslzutfi%}'l}. 28, Evaluate (7.8)% - (2.2,
- Foctorise:
1. x> +8x+18 3. x*ldx+49 3 L+2x+x°
4 Q+6z47" s, x® 6ax 9’ g, dy® +20y + 28
w. 36a” +36a+9 & om? +24m+18 Q. z*+2+ L—
10, 49a? +84ab + 36" 1. pt-10p+25 12, 1210* — 88ab + 165
18, 1-6x +9x* 14, y 12y +4 16, 16x% ~24x +9

17, 0*}:}2 _Gabe +9¢”

1 amt -2tm-4lm= (- 20m).

3, y>+10y+24

% x*+15x +5b6
3. g*-10g +21
1%, X2 —-923x + a9

Gil) On -12n°

() 12x°y —‘2.": '
(11} 36x°Y - 80X J z

(i) 180°p” ~27¢ 2% + 8606

lui) ol —n)+ 30 -n)
2. Sc(‘%o l.,;,)__,&z(d,, 2b]
2e +8b—3a- +3b)°
8, .2(.4x ~3y)* —16(8y -2
B.x"—ax— —bx+ab
1. 6ab—-b* +120¢~ Zhe
4. (ax + by)* +{bx -ay)’
7. ablx® +y2]—"y(g +b%)

P

&'\

Hdk
a

+ 18, m* +2m*n® +nt

5. zt+12z+27
6. y>+19y+860
p?+6p-16
x*-17x+16
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19, y? —21y +90
18. x%2+x-132

i9. z? +182z-150
23 pl—4dp-77
25, x2-5x-24
28, x2-4x-12

21, 3z*-10z+8
s4a. 2x2 -17x-30
$7. 3+23z-827
40. 4n* -8n+3

OBJECTIVE QUESTIONE

x2 —22x +117
x2 4+85x-104
yt+y-72

. X2 -7x-80

y? -6y -138

. 3x* 4+10x+8
. 2x2 4+x-45
. 7y* -19y -6
. 6x* -5x-86

6x% -17x-3

[ s |

I8, x* -8x +20
18. y? +7y-144
21. a2 +8a -91
24. x* -11x-42

. z®=122—-45
.3yt +14y+ 8
.8p2+11p-i0
.28 -31x -5x*
. 2m?® +24m + 36
2. 7x% -19x -6

X

(YT (R Y B O
O @ BN e

N
™

Ticlk (/) the correct answer in exch gf the following:

1. (7a® -63b%*)=7?
(a) (7a -9b)(Ca +7h)
(e) Sla —3b)(a +3b)
2, (2x -32x3%)=7
(a) 2(x - 4)(x +4)
(c) 2x(1 +2x)?
x*-144x =7
(a) x(x-12)*
{c) x(x—-12)(x+12)
(2-50x2)=2
(a) 2(1 -5x)?
(¢) (2-5x)2 +5x)
8. a*+bc+ab+ac="7?
(a) (a+bla+c)
(c) (b+cllc+a)
8 pg+qp-1)-1=7?
(@) (pg+1lg-1)
(c) g(p-1)g+1)
7. ab-mn+an-bm="7
(@) (a-b)m-n)
(c) (a~n)m+Db)
2. gb—-a-b+1=7?
(a) (a-1)(b-1)
(¢) (a—-1)1-Db)
@ x?-xz+xy-yz="2?
(@) (x -y)x +2)
(€) (x+ylx—2)

£

>

(b)
(@)

(b)
(d)

(b)
(d)

(b)
(@)

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

(b)
(d)

(7a —Sb)(7a +8D)
7(a -3b)la +3b)

2x(1 -2x)?
2x(1 —4x)(i + 4x)

x{x+12)*
none of these

2(1 +5x)
2(1 - 5x)(L +5x)

(a+b)b+c)
ala+b+c)

plg +1)(g —-1)
(pg - 1)g +1)

{a -—m)b+n)
(rm —a)(n — b)

1-ajd-»n)
(1-a)(b-1)

x-ylx—2)
(x -y)(z—x)
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